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2. On the next page, there are 34 word statemenLs and on the

following page there are 34 words, each of which corresponds

to one of the staLements. Please note the letter code that

goes with each word. Please place the MOST CORRECT CAPITAL

LETTER in the space provide before each statement. Please

use pencil. Some statements may apply to more than one

word, however, there is always a better choice. If you fold

your test carefully you will be able to see the statements

and Lhe letter code at the same time I I
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,/ positivel\,' charged and located in the nucleus

may be homogeneor-ls or heterogeneous and always contain more than one type of
/part icle

are negatively charged and orbit the nucleus

Zre composted of two or more efements that are chemicalty bonded in a precise
ratio of atoms a:s described by a chemical formula

has distinctly d.ifferent reglons in lts overall composition

/are alway homogeneous and
; Tyndall effect (causes

a
ti

able Lo all-ow liqht to pass through without causrng
to scatt.er, like a flashlight through fog)ght

re

are homogeneousand do not separate and are often opaque (opaque: do not allow
light to pass through)

./'were the only efements for which we were able to complete Bohr diagrams

when atomr; share valence shell electronsoccurs

/are gas particles that are made from elemental molecules that use a covalent bond
j-n order to creatre full vafance shells through sharing

is classifi-ed as a non-metal

,any observation t-hat uses numbers and can frequentiy be used lc rrlentiflz
substance

a

is the number of protons located in tne nucleus and also determrnes an atoms
Iocation on the periodic table

-form monat.omj-c gases and are located in the cofumn on the far right of the
periodic table

/are located in the second last column of t.he periodic table

/are made from the cofumns ranging from scandium to zinc and are located in the
middle of the per:iodic table

the outermost electron she-Lf in any at.om

occurs when there 1s a loser atom and a gainer atom

Are neut-ral and
total mass

located i-n the nucleus and make up more than half of an atoms

/'is the sum of the protons plus neutrons that are located 1n the nucl-eus of an atom

/'can be measured without destroying the substance being tested

1t. tnu most comrTron type of element found on the periodic table

do not create ner^' chemical compouncis

always create nev! compounds that will have a new chemi-cal forrnula

/hu,r. o.,ly one tyFe of atom onfy

./'are able to separate tnto rwo phases if lefr to sra:tC

Au" u negatrve charge

/any observation that is made without the use of numbers

/ha.te been removed from the main parL of the periodic tabLe and have been placed
below in order to make the periodic table fiL on a regular piece of paper

/'" located in the first col-umn of the periodic table

A" located in the second column of the periodic table

cannot be measured without destroying the substance being tested

is something that is the same throughout

have a positive charge
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3 Add l-abels to this periodic table as was done on the
exercise during c1ass. Please use the list of words on the
previous page as an aid to help with this process.
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m=DV

Please use proper format for both density cal-culations as
used in cl-ass and on the quiz. pl-ease convert units such
that units are in agreement during each calculat.ion.

mega
M

kil o
k

hept.o
h

deca
da

base
unit

deci
d

cent i mi 11i
m

micro
p

F
+1000

+
x1000

ts

{
xl0

ts
+10
{

x10

F
+10
{

x10

a)

ln:

D=

Vz

7- br
l3,S 3 ".g /n, L

l,zqsL'? l?k6.nL

b) 25.00cS of a metal has a volume of 2.2046 L. Use this
information and the table at the bottom of this page to
identify the met.al in this question.
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Determine the mass in kg of I.245 L of liquid mercury given
that t.he densit.y of liquid mercury is 13.55 mq/mL
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5. What does the "atomic number" of the element tell- you'? What
is the atomic number of the element potassium?
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1 . Please complete the missing information in the followrng
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What. is the key difference between a physical vs a chemical-
change ?
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Pl-ease identj-fy as a physical or chemical
a chemical change please add the evidence

a) a candle flame C h cr.t ,'c at /

ond n

I ttr
9 ch

of
ange. If it. is
chemical change

b) melting candle wax

4 Lr.a+ / l,'

PL, , "f,'aa /

h

I

&lnetr. -l-q

3 tzr

t{,,,,



10. Complet.e each Bohr diagram by adding electrons in the correct
l-ocati-ons. Which of the diagrams t.hat you have completed
have a fuff valence shefl?

N "o" aft/ He,/lu.a
Ne

Na

11

N

Mg
oms

e

ir
C

n

>I

Show how ionic bonding works between
draw Bohr diagrams of the neutral- at

and Cl. To do tn-is,
and E-ren redraw Lhe
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aLoms after they have l-ost or gained electrons and show
using an arrow where the elecLrons have travelled. Please
use dots f. the magnes ium electrons and smalL "x"
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Show how covalent bonding works between h@n
to form wat.er. Please draw hydrogen and oxygen before
bonding and then a second time t.o show how the bonding
works. Please use dot.s f or the h dro n el-ecLrons and small

rons. Wr1 te the chemical formula"s for the

@
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Please use instrucLions from either question #11 or #L2 to
show the bonding between P and H Pl.r.spharq: tlTehag*n

D ? Ht is +4-. fir-rru\t

1/- Please write the type and number of atoms found j-n each
f ormu]a.

Co (NHr)6C13
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